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1. HBRK T, EEBHALAREEEEXARREEEE, EME SR RN
JKEEER{E PH=5 K TR /K SHEEH TRERSD(H']=)25%)

2. {AEE" $L@E AV (buffer solution)”’?E 0.5M CH3COONa ¥A¥K 50ml Al A 0.01M HCl
VSHR 10m| 18, LA BB B IE? HHYAYR PH 2% 4? CH3COOH 1Y
K,=1.8x10™ (10%)

3. EREA”ELEEEE(Beer's Law) RYA 2 PRE AT ILE T RIER ] ?(10%)

4. SHTHE L P FETERE (precision)” FI" ¥ERE R (accuracy) SRR R MTAE REI A (E
FE(reliability), 2568 By H— TS R B R SRR S e A E R R R 2.
(10%) '

5. FIEMRAE EERE B FHNY 3 B TERSS, iaR B E R ERAIThEE (FH) 2 (15%)

6. Define the following terms: (21 % ) (3 points each )
(a) Configurational isomers, Conformational isomers, Diastereomers and Enantiomers

" (b) Aromatic Compounds, Antiromatic Compounds and Nonaromatic Compounds
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7. Give the strustures of the major organic products of the following reactions : 2 points each
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¥ Assign and explain either R or § configuration to the stereogenic centers
in these molecules : 3 points each.
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